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For Competitive Txams

GENERAL KNOWLEDGE - GENERAL KNOWLEDGE

Question No.1

What is the new name of NH477?

NH47 &1 41 =19 37 82

(A) O National Highway 545
545

(B) O National Highway 548

ST TSN 548

(C) O National Highway 543 (Chosen option)

RIS ISTHRT 543

(D) O National Highway 544 (Correct Answer)

YT ISR 544

Marks: 1.00
Bookmark

Question No.2

the of Madhya Pradesh who were impacted by COVID-19.

fobam o1, St Difde-19 A guIfad |
(A) O security g.uards (Chosen option)

& TSt
(B) O cab drivers

(C) O farmers
T

(D) O street vendors (Correct Answer)

Ppeury fassarai

Marks: 1.00
Bookmark

In September 2020, Indian Prime Minister Narendra Modi hold ‘Svanidhi Samvaad’ with
RYdeR 2020 H, YR GUHEAT 95 AT 7 79 U™ & & Y WY dare

Question No.3

Recently how many Eklavya and Vikram awards were given for the year 20197
BT g1 & a9 2019 & o foham U REPR SR fadhd REBR 3T MW §2
(A) O 10 Eklavya, 4 Vikram
10 Ushered, 4 fashH
(B) O 14 Eklavya, 3 Vikram
14 Tohetod, 3 fashH
(C) O 10 Eklavya, 14 Vikram
10 Tcherod, 14 faspH
(D) O 14 Eklavya, 10 Vikram (Correct Answer) (Chosen option)
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Bookmark
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14 THE, 10 faspH

Question No.4 Marks: 1.00

Bookmark
Find the odd one among the following districts in Madhya Pradesh.

T Yo & HafaRad fore 8§ 9§ srer (73 1) &) ugaH |
(A) O Bhind (Chosen option)

fiis
(B) O Morena

(C) O Datio (Correct Answer)

(D) O Sheopur

Question No.5 Marks: 1.00

Bookmark
The dance form 'Dollu Kunitha' belongs to which Indian state?

B AT T T YR 0 ¥ Gafdd g2
(A) O ;r;la

(B) O Telangana
GUIRI]
(C) O Assam (Chosen option)

STHH
(D) O Karnataka (Correct Answer)

Question No.6 Marks: 1.00

Bookmark
In how many districts was Mahatma Gandhi National Rural Employment Guarantee Act
(MahaNrega Yojana) first implemented in Madhya Pradesh?
LYY H YUYW HTT Tiefl AP TrHion AR MRS SifAam (AR Aer) fbam
ENEEIVCIRIER Y
(A) O 22
22

(B) O 18 (Correct Answer) (Chosen option)
18

(C)O 25
25

(D) O 10
10

Question No.7 Marks: 1.00

Bookmark
India celebrates the National Unity Day or Ekta Diwas on

YRA H P Tepar faag 1 FATT STl & |
(A) O 29th October

29 3TN
(B) O 30thOctober
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Free Downloaded From - www.exammix.com



Visit ; www.exammix.com & Download : All Exam Previous Question Papers (Hindi & English)

ues
30 ST
(C) O 27t October (Chosen option)
27 I
(D) O 31st October (Correct Answer)
31 TR

Question No.8 Marks: 1.00

Bookmark
The relics of which of the following chief disciples of Lord Buddha were found in Sanchi
Stupa?

W g & Fgfeiad e Rt & § feaes srawiy il & wqu & urg 71u g7
(A) O Mahakasyapa
HelhIRYY
(B) O Ananda
g
(C) O Moggallana (Correct Answer) (Chosen option)
AT

(D) O Anuruddha
A&

Question No.9 Marks: 1.00

Bookmark
Where was the National Water Conference 2020, held in February 20207

TBRART 2020 H P S THITH 2020 Hl AT fobam T AT
(A) O Bangalore
SR

(B) O Gandhinagar
TR
(©) O Mumbai

o

(D) O Bhopal (Correct Answer) (Chosen option)
yigTa

Question No.10 Marks: 1.00

Bookmark
The statue of Lord Vishnu in his avatar is found in the Eran town of Madhya
Pradesh.

YA faw] o1 i 396 3IAR T A U= & WUl e | et g
(A) O Nargsimha

(B) O Matsya
q

(C) O Varaha (Correct Answer) (Chosen option)
a8

(D) O Parashurama

URRRMH

Question No.11 Marks: 1.00
Bookmark
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of north Indian classical dance Kathak. In which year was it established by the
Government of Rajasthan?

HR aTel Teh TR TR B | IS WRBR 3 75 af 7 g9ept wa=1 &t o2

(A) O 1968
1968

(B) O 1958 (Chosen option)
1958

(C)O 1988
1988

(D) O 1978 (Correct Answer)
1978

Jaipur Kathak Kendra is a premier institution working for training, promotion & research

IR HYH g, IR YR ARG T HYH & U], TIR 3R SI8e™ & forg s

Question No.12

workers of which Indian state?

fore R TR WR fawRid g

(A) O Bihar
fogR

(B) O Madhya Pradesh (Correct Answer)
q TS

(C) O West Bengal (Chosen option)
CEEEIN]

(D) O Uttar Pradesh

IR U

TotiaAt, 3Ol aRg BT UGl dlg fhd HRAIT I & WY ST YH®] BT AGg H &

Marks: 1.00

Bookmark
Sanjeevani, the first of its kind vehicle developed at the local level to help the health care

Question No.13

The Lal Bagh Palace is located on the banks of which river?
AT 1T He o (F0) fopd -1et & forR R R 82
(A) O Ken River
CEE
(B) O Pench River
U9 74!
(C) O Khan River (Correct Answer)
@ Ad
(D) O Tawa River (Chosen option)

qar e

Marks: 1.00
Bookmark

Question No.14

Which of the following book is written by former Indian President Pranab Mukherjee?

Praffed ¥ @ $H-H qdae gd YR Igufa yore gast gRT e 7 82

(A) O The Dramatic Decade: The Indira Gandhi Years (Correct Answer)
g grafe® fEds: g sfexr widh sad

(B) O My Country My Life
g el 71 Agth

(C) O One Life is Not Enough

Free Downloaded From - www.exammix.com

Marks: 1.00
Bookmark
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EENSIFNZET IS 1
(D) O Nehru: The Invention of India (Chosen option)

8% € 393 3T sfear

Question No.15

The great musicians like Tansen and had their music education at Sangeet
Vidhyapeeth Gwalior opened by Raja Mansingh Tomar.

SRR REEI SR I8 SiaeRI 3 el AFRIE dR gRT R fh T8 St
faendis warferaR & eruit Tvitd o1 fRigm ured ot &t
(A) O Baiju Bawra (Correct Answer) (Chosen option)

qTaRT

(B) O Asgari Bai
SR

(C) O Alladiya Khan
3feefiear @M=

(D) O Jagannath
SIATATY

Marks: 1.00
Bookmark

Question No.16

The ‘Jhar gaye paat, bisar gayi tehni’ is a famous poem by which of the following poet?
IR T U1, R 7S 25t Pl & § fr fa 3t ufig siaar g2
(A) O Nasira Sharma

BN

(B) O Balkavi Bairagi (Correct Answer) (Chosen option)
qraB i A

(C) O Chitra Mudgal
[EEIR: S|

(D) © Ramesh Kuntal Megh
THY Had HY

Marks: 1.00
Bookmark

Question No.17

Famous author Gajanan Madhav Muktibodh was born in which city of Madhya Pradesh?

RIS TR o ATYd Gfaday &1 S Je Yo & fohd [ex J gofT UT?
(A) O Enrgo]%al

(B) O Sheopur (Correct Answer)
(C) O Vidisha

(D) O Shivpuri (Chosen option)

Marks: 1.00
Bookmark

Question No.18

Which of the following Indian personality has won the Asia Game Changer Award 20207
frafafed & § fog yRdia safaaa 3 TR 119 SoR REBR 2020 Siar 82
(A) O Usha Mangeshkar (Chosen option)

Free Downloaded From - www.exammix.com
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Bookmark
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I HIHT
(B) O Aditya Puri
3nfea

(C) O Vikas Khanna (Correct Answer)
faowra @

(D) O Sudha Painuli
e oget

Question No.19 Marks: 1.00
Bookmark
Mayor of Satna city, Madhya Pradesh is:
A TR & T [ER & AR &
(A) O Pratibha Pal (Chosen option)
GfcrHT ot

(B) O Swati Godbole
RSIRICEIN]

(C) O Roshini Mishra
AT s

(D) O Mamta Pandey (Correct Answer)
T Ui

Question No.20 Marks: 1.00
Bookmark
Which city is known as the Cultural capital of Madhya Pradesh?

for RER P! T U Bt ARG IA® JASTUT & U H ST STl 872
(A) O Gwalior
aTferR

(B) O Bhopal (Chosen option)
Higret
(C) O Jabalpur (Correct Answer)

SdeyR
(D) O Ipdore

GENERAL HINDI - GENERAL HINDI

Question No.1 Marks: 1.00
Bookmark
g Ue  UTg @@ A 99 81 99 I SIF-T71 US 70d 872
(A) O g
(B) O it
(C)O areft

(D) O fif¥ (Correct Answer) (Chosen option)

Question No.2 Marks: 1.00

N 6/29
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(B) O il 7 va1d $eR fau

(C) O 9 A 3@ Har faa

(9N

ues

Bookmark

ﬁﬁww%m’—%wmmﬁw%m%ﬁﬁ%wﬁm
?

(D) O gl A THTA Far f3T (Correct Answer) (Chosen option)

égggpguestion Papers (Hindi & English)

Question No.3
TAGH T DIF-91 TSN JHN 52

(A) O 3IUTGH dJ¥Y (Correct Answer)
(B) O 3HfyHru dgsy

(C) O &H Ty (Chosen option)

(D) O HIurdgsy

Marks: 1.00
Bookmark

Question No.4

Iuad AT | Ugad eTar &1 Sfd 31 sy
(A) O TR &I GFR T gaHT

(C) O IS ¥ 9gd $© Pe-T (Correct Answer)

(D) O §gI-g¢IdR d1d HRAT

Marks: 1.00
Bookmark

TS Fd BT Frfor & et § ot TR § IR W1 g 31

(B) O I a1 & TP sal B ad BT (Chosen option)

Free D

Question No.5

AR e &1 TG A fawdg o-
(A) O fUq + 39T (Correct Answer) (Chosen option)
(B) O U= + 3irs1m

(C) O fuaR + 3

ownloaded From - www.exammix.com
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(D) O U + 37

Question No.6 Marks: 1.00

Bookmark
e T 71T Trsg &1 famiarde wreg adzu-
3fegTar

(A) O Tem

(B) O Tdamdl (Correct Answer) (Chosen option)
(©) O fayaardt

(D) O gyrdt

Question No.7 Marks: 1.00
Bookmark
fAgafeied o @ 1 R e BT dTH 82
(A) O

() O @R
€O ?{Uf(Correct Answer)

(D) O 9o (Chosen option)

Question No.8 Marks: 1.00
Bookmark
JH IR TR T U1a= Y Ufed | SH-91 DR 872
(A) O g
(B) O wus
(C) O 3I9AT (Correct Answer) (Chosen option)

(D) O gwifaa

Question No.9 Marks: 1.00
Bookmark
SN 3P Siad1 8¢ & foTe TH Usg 3T T2
(A) O fBrqurst (Chosen option)

(B) O #yRHmt

. 8/29
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(©) O wemTg

(D) O draTe (Correct Answer)

Question No.10
3RV’ forenT TargaTdt g1 67
(A) O faft| (Chosen option)
(B) O &M+

(C) O fag (Correct Answer)

D)O @

Marks: 1.00
Bookmark

Question No.11
fou U fapetl H § HH-91 Wea, dgd 872
(A) O uelt

(B) © Ud" (Chosen option)
(C) O uy

(D) O U (Correct Answer)

Marks: 1.00
Bookmark

Question No.12
fraforfead aredl # ¥ SH-31 a9 YU Ui H1d HT ]2
(A) O T WU YT g3f 8T
(B) O =IMg< %d XM &I aui g1 (Correct Answer)

(C) O ¥dr = fo= 991 8N (Chosen option)

(D) O gH 3eqg HRd dl UHUH g HR U |

Marks: 1.00
Bookmark

Question No.13
fofead & ¥ -1 f9h ey daar’ &1 vafgar 78t 872
(A) O

Free Downloaded From - www.exammix.com
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Bookmark
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TGl (Chosen option)

(B) O ward
(C) O g3 (Correct Answer)

(D) O iy

Question No.14 Marks: 1.00

Bookmark
TRY HIg BT 3 fbg 71 T+ ST ST 82

(A) O =fiERY UG (Correct Answer)
(B) O 3&IU (Chosen option)
(C) O 3ircisA

(D) O 3@

Question No.15 Marks: 1.00
Bookmark
oI UM $3 9 8 & oL U Wsg &1 g2
(A) O 3/ (Chosen option)
(B) O affdr= (Correct Answer)
(C)O 3@y
(D) O srfH

Question No.16 Marks: 1.00
Bookmark

T feu U e &1 faehH Ve FaTSU -

‘3{%’

(A) O e
(B) O o
(C) O BT (Correct Answer)

(D) O ¥ (Chosen option)

. 10/29
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Question No.17 Marks: 1.00
] Bookmark
AT H Tgad 9 &-
(A) O <ot
(B) O Tur gy
(C) O gur ¥fA (Correct Answer) (Chosen option)
(D) O qfc g
Question No.18 Marks: 1.00
Bookmark
3G TS YT &1 a1 312 g2
(A) O gus G
(B) O 1Y AT (Correct Answer)
(C) O @™ &I (Chosen option)
(D) O wIg &I =51 1@ I
Question No.19 Marks: 1.00
Bookmark
frafaRed § 9 eF-91 faer Tss 872
(A) O aur
(B) O drerH@d (Correct Answer) (Chosen option)
©) O Y-y
(D) O ¢fiR-¢fiv
Question No.20 Marks: 1.00
Bookmark
“RIF’ Teg | DIH-TT ST U 82
(A) O 3ffd (Correct Answer)
(B) O 3t
©) O s
(D) O 3f (Chosen option)
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GENERAL ENGLISH - GENERAL ENGLISH

Question No.1 Marks: 1.00
Bookmark
Identify the CORRECT word with the prefix “INTER”

(A) O International (Correct Answer) (Chosen option)
(B) O Intervenous
(C) O Intermanage

(D) O Interlook

Question No.2 Marks: 1.00
Bookmark
Choose the CORRECT option to fill in the blank in the given sentence:
The Amazon website me for items that | had never ordered.
(A) O build
(B) O built

(C) O bailed (Chosen option)

(D) O billed (Correct Answer)

Question No.3 Marks: 1.00
Bookmark
Which word is most dissimilar in meaning to the given word ‘Pristine’?
(A) O Spacious (Chosen option)
(B) O Precious
(C) © Primal

(D) O Sullied (Correct Answer)

Question No.4 Marks: 1.00
Bookmark
Fill in the blanks with a suitable preposition in the given sentence:
Nishant, athletics coach ___ Mumbai, has been participating __ many competitions
last month.

(A) O of, from (Chosen option)

(B) O from, in (Correct Answer)

12/29
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(C) O to,in

(D) O fro, to

Question No.5 Marks: 1.00

Bookmark
Fill in the blank with the appropriate modal in the given sentence:
Had she practiced playing the flute more, she have won the competition.

(A) O can
(B) O should
(C) O oughtto

(D) O could (Correct Answer) (Chosen option)

Question No.6 Marks: 1.00

Bookmark
Fill in the blanks with the suitable article in the given sentence:
Life in __ university library can be taxing due to ___ long hours that librarian needs
to devote there.

(A) O a, the, an
(B) O a, the, a (Correct Answer)
(C) O the, a, a, (Chosen option)

(D) O an, the, a

Question No.7 Marks: 1.00

Bookmark
Choose the phrasal verb that best fits the blank in the given sentence:
If you are going to the movies, may | ?

(A) O go ahead
(B) O go about (Chosen option)
(C) O go along (Correct Answer)

(D) O go away

Question No.8 Marks: 1.00

Bookmark
Fill in the blank with the CORRECT word in the given sentence:
There is very water in the jug.

13/29
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(A) O some (Chosen option)
(B) O little (Correct Answer)
(C) O much

(D) O many

Question No.9 Marks: 1.00

Bookmark
Choose the word with the CORRECT spelling in the given sentence:
During the war, our soldiers will the enemy and secure our land.

(A) O annelate
(B) O annahilate
(C) O annilate (Chosen option)

(D) O annihilate (Correct Answer)

Question No.10 Marks: 1.00

Bookmark
Choose the CORRECT option to complete the given sentence:
He is a very narrow-minded person;

(A) O so do his father
(B) O so weren’t her children (Chosen option)
(C) O sois his wife (Correct Answer)

(D) O does not he

Question No.11 Marks: 1.00

Bookmark
Fill in the blank with the CORRECT pronoun in the given sentence:
Please bring me the helmet is on the other side of the table.

(A) O lying
(B) O who (Chosen option)
(C) O whose

(D) O which (Correct Answer)

14/29
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Question No.12

Fill in the blank with the CORRECT word in the given sentence:

her organizational ability was taken into account.

(A) O highly on her sales record
(B) O barely on her sales record

(C) O intensely on her sales record (Chosen option)

Free Downloaded From - www.exammix.com

The decision to promote her was based , and neither her management skills nor

Marks: 1.00
Bookmark
Choose the correct option to fill in the blank in the given sentence:
Both Terry Jerry decided to bunk classes on that day.
(A) O yet
(B) O or
(C) O but (Chosen option)
(D) O and (Correct Answer)
Question No.13 Marks: 1.00
Bookmark
Which of the following pair of words are similar in meaning?
(A) O Succor: hindrance
(B) O Establish: annihilate
(C) O Taciturn: voluble (Chosen option)
(D) O Characterize: delineate (Correct Answer)
Question No.14 Marks: 1.00
Bookmark
Choose the CORRECT option to complete the given sentence:
To , Anne was on time for her Maths class.
(A) O everybodys surprise (Chosen option)
(B) O everybodys’ surprise
(C) O every body’s surprise
(D) O everybody’s surprise (Correct Answer)
Question No.15 Marks: 1.00
Bookmark
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(D) O solely on her sales record (Correct Answer)

Question No.16 Marks: 1.00

Bookmark
Fill in the blanks with the suitable tense in the given sentence:
I French for two years, but | still it very much.

(A) O may have been learning, don’t understand
(B) O had learned, understand not
(C) O have been learning, don’t understand (Correct Answer)

(D) O have learn, do understand (Chosen option)

Question No.17 Marks: 1.00

Bookmark
Fill up the blank with the CORRECT option to complete the sentence:
After the continuous rain yesterday, it was cold last night, ?

(A) O wasn'tit? (Correct Answer)
(B) O isn'tit?
(C) O was it? (Chosen option)

(D) O didn't it?

Question No.18 Marks: 1.00
Bookmark
Fill in the blanks with a suitable preposition in the given sentence:
Instead taking their bikes outdoors, cyclists are now hooking them ___ to trainers.
(A) O in, of

(B) O of, on (Correct Answer)
(C) O on, of (Chosen option)

(D) O of,in

Question No.19 Marks: 1.00
Bookmark
78. Which of the following sentences is CORRECT?

(A) O Neither of the candidates have performed well in the interview.

(B) O Neither of the candidate has performed well in the interview.

16/29
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(C) O Neither of the candidates has performed well in the interview (Correct
Answer) (Chosen option)

(D) O None of the candidates has performed well in the interview.

Question No.20 Marks: 1.00

Bookmark
Fill in the blank with the suitable article in the given sentence:
We are learning how to speak ___ English well.

(A) O a
(B) O the (Chosen option)
(C) O an

(D) O no article required (Correct Answer)

GENERAL MATHS - GENERAL MATHS

Question No.1 Marks: 1.00

Bookmark

A box is in the form of a cube. If its outer edge is 6m long, then find the cost of painting

of the outer surface area of the box at the rate of Rs. 5 per m2.

Teh SR Th U & U H g1 IS 571 a1e] fobIRT 6 Hiex ol g, A 5 300 ufd M2 1 R
T Ja & 183 YETI-870d WR U - &1 aRTd J1d Biforg |
(A) O Rs. 1050
1050 >UU¢
(B) O Rs. 895
895 »UU
(C) O Rs.989
989 »Uu
(D) O Rs. 1080 (Correct Answer) (Chosen option)
1080 ¥U¢

Question No.2 Marks: 1.00
Bookmark
What should be subtracted from x*+x3-2x2+x+1 such that it is divisible by x — 1?
x4+x3-2x2+x+1 H TT 9T ST AT, dlfds I8 x - 1 ¥ faHr=g 81 Se?

(A)O 3
3

(B) O 2 (Correct Answer)
2

(C) O 1 (Chosen option)
1

D)o o
0

Question No.3 Marks: 1.00
Bookmark

. 17/29
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A 6-cm paneer cube is cut into 1 cm equal sized cubes. The percentage increase in the
surface area of resultant pieces is:
6 I TR & ° &1 1 JHt & SRIER MHR ardl g1 & Pl f3ar Sirar g | uRomdt gawel &
g8t &=ha | g3 i ofg ©:
(A) O 300% (Chosen option)
300%
(B) O 200%
200%
(C) © 500% (Correct Answer)
500%
(D) O 400%
400%
. Marks:
Question No.4 1.00
Bookmark
In the given figure, £ADE =2F and AD=2.6cm, AE=3.4cm, BE=2.1cm, BC=4.4cm.
Find DE.
A
E
D
Gd g @ |, £ADE =£B Qg AD=2 6 ¥HI, AE=3 4IHI, BE=2.1 9Hi, BC=4 4 ¥H1 3| DE 91d |
A
E
D
(A) O 2.8cm (Chosen option)
2.8 9t
(B) O 3.2cm
3.2 9t
(C) O 2.08cm (Correct Answer)
2.08 It
(D) O 2.6cm
2.6 94t
Question No.5 Marks: 1.00
Bookmark
Vivek was 26 years old in 1990 when his daughter Lakshmi was born. In what year was
Vivek exactly 3 times as old as Lakshmi?
f3a®, 1990 T 26 T H1 U1 Safds 39 I9 DT T Ted &1 54 ga| fvy v o fads
3ot gt & S i AT FST g
(A) O 2003 (Correct Answer)
2003

. 18/29
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(B) O 2002
2002

(C) O 2012
2012

(D) O 2010 (Chosen option)
2010

Question No.6 Marks: 1.00
Bookmark
If the sum of a positive number and its square is 156, then the number is:

i Ueh YTeD BT 3R ITb 1 BT TNT 156 8, o) TBAT B

(A) O 17
17

(B) O 12 (Correct Answer)
12

(C) © -13 (Chosen option)
-13

(D) O 15
15

Question No.7 Marks: 1.00
Bookmark

In a lottery 4% of the tickets printed can be redeemed for prizes and 4% of those tickets
have values in excess of Rs.1000. If the state prints 40000 tickets, how many of them
can be redeemed for more than Rs.10007?
TS dlet #, gfad fewel § F 4 ufawid & REpRT & forg RS oo S wehar § 3R &
femel & 4 Ufa=rd &t HEd 1000 FUT I i 34 g1 TfS I 40,000 fewve gigd war g
1 3H T 1000 300 T 31 & forg RSty fawa s I g2
(A) O 160

160

(B) O 1600
1600

(C)O 80
80

(D) O 64 (Correct Answer) (Chosen option)
64

Question No.8 Marks: 1.00
Bookmark

If the roots of the equation x2-2px+8p-15=0 are equal, find the possible values of p.
e THieR0T x2-2px+8p-15=0 % Hd SRR &, il p BT JHTId T F1d BT |
(A) O 3or5 (Correct Answer)
34915
(B) O 2 or5 (Chosen option)
2915
(C)O 3or4
3414
(D)O 2o0r4
2774

Question No.9 Marks: 1.00
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Friends P and Q stay 200 km apart. If they both start driving at 9 a.m. towards each
other, they meet at 10 a.m. and if both travel in the same direction they meet at 2 p.m.
What is the ratio of P’s speed: Q’s speed?

fir P 3R Q 200 foret ot gt R 35 1 TS 3 1 UIe: 9 991 Uah-gaR i = H grsfan
Y& P §, dl d UTd: 10 I FArerd § SR afe 1 9H =T & 9/ $xd § of d GIueR 2
ol e €1 P &1 91 - Q Bt I1d T SUTd o1 672
(A) O 1:2
1:2
(B) O 2:3
2:3
(C)O 21
2:1
(D) O 3:2 (Correct Answer) (Chosen option)
3:2

Bookmark
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Question No.10

If the surface area of a sphere is 200m2, then what will be the total surface area of a
hemisphere of same radius?

ﬁ%ﬁmmmzoﬁz%,ﬁwﬁwmwﬁwﬁwwqmm
G ?
(A) O 20c¢m? (Chosen option)

20 9H2

(B) O 15 cm? (Correct Answer)
15 T2

(C) O 40cm?
40 92

(D) O 10cm?
10 Y2

Marks: 1.00
Bookmark

Question No.11

If the point P(9,2) divides the line segment joining the points A(12,5) and B in the ratio
3:5 then find the coordinates of B.
e fagaft A (12,5) 3R B & ™ arelt Yards & fag P (9,2) 3:5 & 3rgurd # fawifora
Pl 3, Tl B & F&RIias I1d Sifor
(A) O (3-4)
(3,-4)
(B) O (4,-3) (Correct Answer)
(4,-3)
(C) O (-3,4) (Chosen option)
('3’4)
(D) O (-3,-4)
(-3.-4)

Marks: 1.00
Bookmark

Question No.12

There are 12 men on a Basketball team and in a game 5 of them play at any one time. If
the game is 1 hour long and if each man plays exactly the same amount of time, how
many minutes does each man play?

Free Downloaded From - www.exammix.com

Marks: 1.00
Bookmark
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% IRGC 1A ST H 12 TFY g IR Th 1 H, 378 9 5 fordt ff U Img W @ad ¢ | afe
A 1 G &7 BT ¢ 3R IS T T8 THH T & fo Wadn § df Udd gy faarst
foram firTe a% W 82
(A) O 20

20

(B) O 25 (Correct Answer)
25

(C) O 15 (Chosen option)
15

(D) O 30
30

Question No.13 Marks: 1.00

Bookmark
If 1 is added to the number of chocolates | have then the ratio of chocolates between me
and my sister becomes 1/2:1 and if my sister loses 2 chocolates our ratio becomes 1: 3.
The number of chocolates | have more than my sister is:.

e TR U1 H[G didhale &1 G H 1 TSI AT 8, df IR 3R R 98 & o dihaie ol
SIUTd 1/2:1 BY ST § 3R Tfe A 58 2 Aichaie Wl it 8, O §HRT U 1: 3 Bl S 8
Tldhaie DI TR F1d BT S B T8 B gorT § IR U e g
(A)O 5
5
(B)O 3
3
(C) O 4 (Correct Answer)
4
(D) O 6 (Chosen option)
6

Question No.14 Marks: 1.00

Bookmark

The diameters of two cones are equal. If their slant heights are in the ratio 5 : 2, then the
ratio of curved surface areas of the cones is:
3l Uit & S YA g1 IS 37! foReT SaTs 5:2 & U H ], 79 Vgl & 9% gl
& PT 3U &
(A) O 4:5 (Chosen option)

4:5
B)O 2:5

2:5
(C)O 25:4

25:4
(D) O 5:2(Correct Answer)

5:2

Question No.15 Marks: 1.00

Bookmark

The HCF and LCM of the two numbers are 50 and 250 respectively. If the 15t number is
divided by 2, the quotient is 50.Find the second number.

& =3t & AT HITadS 3R AT JHYdd® HH: 50 3R 250 § | afe ugdl wem
B 2 I AU B TR UITHS 50 =T § af gOst TRedT 1d B |
(A) O 150

150
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(B) O 100
100

(C) O 125 (Correct Answer) (Chosen option)
125

(D) O 140
140

Question No.16 Marks: 1.00

Bookmark
What is the number of digits in the repeating block in the decimal expansion of 1/13?

1/13% GRATA TOR H Q16T U sA(d H S| BT T6 1 67
(A) O 6 (Correct Answer)
6

(B)O 5
5

(C) O 7 (Chosen option)
7

(D) O None of these

3T H A IS el

Question No.17 Marks: 1.00
Bookmark

The algebraic form of an arithmetic sequence is 7n-3 then the remainder obtained if the
terms are divided by 7 is:

T BT S H BT SO T4 7n-3 §, 0 3G Uel &1 7 ¥ fquifora fear s ar
VB U BT B
(A) O 3 (Chosen option)

3

(B) O

6
6
5
5
4 (Correct Answer)
4

Question No.18 Marks: 1.00

Bookmark
How many positive integers less than 100 have a remainder of 3 when divided by 77?

100 ¥ HH fohdA 4TS Quifeh 7 I AU 8 TR 3 AThd od 82

(A) O 13
13

(B) O 15
15

(C)O 12
12

(D) O 14 (Correct Answer) (Chosen option)
14

Question No.19 Marks: 1.00
Bookmark
In a single throw of a pair of dice, the probability of getting only odd numbers on both
dice is:
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uestion

TS SIS U &) U aR Wb IR GIHI urdl § had favy I=a1 3 &1 il &:

(A) O 1/6
1/6

(B) O 1/3 (Chosen option)
1/3

(C) O 1/4 (Correct Answer)
1/4

(D) O 112
112

Question No.20 Marks: 1.00
Bookmark

x

If 10% = &4, whatis the value of H}E_ 2

x

aR 10= 64,1 107 o ra Fg?
(A) O 18
18

(B) O 80 (Correct Answer)
80

(C) O 81 (Chosen option)
81

(D) O 42
42

GENERAL SCIENCE - GENERAL SCIENCE

Question No.1 Marks: 1.00
Bookmark
The compound which is not an isomer having the molecular formula CsHq5 is:

3 QAT BT AT TATSU o Th THGTd! (SMIUR) el § auT ForIeT 3M1f0adh T CsHyp
82
(A) O 2,3-Dimethylbutane (Correct Answer)
2, 3-BT5AY
(B) O 2-Methylbutane
2-
(C) O n-Pentane (Chosen option)
n-
(D) O 2,2-Dimethylpropane

2,2-STSHIE Uu=

Question No.2 Marks: 1.00
Bookmark
The respective acids present in vinegar, orange, apple and tomatoes are:
R, Af, A9 3R eHIeR A A 3 HHA: §:
(A) O Oxalic acid, malic acid, citric acid, and acetic acid (Chosen option)

STRRTD oftet, BT 3 fafew onat ok Wfifes ora

(B) O Malic acid, acetic acid, citric acid, and oxalic acid

Afere o, Wfifesd o, Riftw o iR sifadifers o

23/29
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(C) O Acetic acid, malic acid, oxalic acid, and citric acid
THiifess sna, Bferd o, sifadifers i ok Rifeed s

(D) O Acetic acid, citric acid, malic acid, and oxalic acid (Correct Answer)

e ona, Rifeew on, Aftre oneT SR Sifefere sra

Question No.3 Marks: 1.00

Bookmark
200 mL of a 30% NaOH solution is mixed with 300 mL of a 40% NaOH solution. The
concentration of the mixture in terms of mass % is:

30% NaOH faaa= & 200 fHeficiier & 40% NaOH fada= & 300 fcieier & a1y faamn
SIdT 8| GoH % & g | fHe0r &1 9igur g
(A) O 36% (Correct Answer)
36%
(B) O 45% (Chosen option)
45%
(C) O 50%
50%
(D) O 30%
30%

Question No.4 Marks: 1.00
Bookmark
The force behind the tidal energy is coming from:
SR Sl & Ui g T ST 5|
(A) O The gravitational force between earth and sun
gt 3R G & S TeaIm T ad
(B) O The gravitational force between moon and sun
IGHT 3R oI & A TE@arb YUl §ad
(C) O The gravitational force between moon and earth (Correct Answer)
5T 3R A} & ST [Sarsyu 59
(D) O The waves in the sea (Chosen option)

Tz § el

Question No.5 Marks: 1.00

Bookmark
Which of the following types of chemical reactions are to be carried out to prepare
slaked lime from limestone?

frafaRad & ¥ frd UoR & I sfifhary, 901 URR (AREeH) ¥ 9311 I AR
DA & fRIT & oI A1igu?
(A) O Displacement and reduction
fIRITOA IR o
(B) © Decomposition and combination (Correct Answer)
3qged 3R ¥
(C) O Double displacement and oxidation (Chosen option)
fga faRiTe SR sifafiaor
(D) © Decomposition and precipitation
3gEe 3R /gamur

Question No.6 Marks: 1.00
Bookmark
If an object is placed at a distance of 40 cm from a concave mirror having a focal length
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minute to produce a heat of energy of 60,000J?

D1 3afy H fora-l YRT Yarfed st Sg?
(A) O 10A (Correct Answer)

10
(B) O 60A

60 TR

(C) © 100A (Chosen option)

Free Downloaded From - www.exammix.com

g, Ol 37 M g
(A) O 1/2
1/2
(B) O +2
+2
© O -2
-2
(D) O -1 (Correct Answer) (Chosen option)
-1
Question No.7 Marks: 1.00
Bookmark
The shrinking of the protoplasm of a cell in a hypertonic solution is due to:
TH AR BIEWRCIH) faaa # teb HIReT & Siagad (Wel@sHT) YHoH &1 SR
g g |
(A) O Endosmosis
S URTERUT (TSTHITR)
(B) O Plasmoly5|s (Correct Answer) (Chosen option)
Siiasod G- (WTHIATSRIY)
(C) O Turgidity
o (efifsd)
(D) O Diffusion
TR (FSTIS)
Question No.8 Marks: 1.00
Bookmark
An object can be called a stationary object when:
g Big/foe Fd™ , a1 98 RR Mo/ F51 o1 9Hhdl §
(A) O It always moves in a straight line. (Chosen option)
U= U Aleft Y@ § vfq R §
(B) O lts position does not change with time and it remains at rest. (Correct
Answer)
ot fRufT T7g & T1y =15 agadl 8 sk 98 RR war e
(C) O lts motion is difficult to observe.
B! T BT e T i3 B
(D) O ltis changing its position with respect to time.
TG & 91y 3ot fRUfY sgaar g
Question No.9 Marks: 1.00
Bookmark

How much current is to be passed through a wire of resistance 10Q for a time of one

60,000J 35Tl 1 HOHT Bl IdIed B P fold 10Q UfeRIywdr 91d U dR & 9 T fiFe
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Question No.10 Marks: 1.00

Bookmark
The combustion of fossil fuels increases the amount of suspended particles in the air.
These suspended particles could be the unburnt particles of:

Sitared g4 & g8 3 ga1 H fRfaa ool &t 7mn g 9t |1 3 FRefed oo e & fomr s
§U 7 319 et §U HUT 81 ol §-
(A) O Nitrogen

~

(B) O Sulphur (Chosen option)
Hethy

(C) © Carbon (Correct Answer)

(D) O Phosphorus
BIRBRY

Question No.11 Marks: 1.00

Bookmark
Which gas is required for photosynthesis in plants?

Tl o UehTI TRAWUT & fofU 5 71 &1 3Taxaehar gidl 82
(A) O Nitrogen

~

(B) O Oxygen

(C) O cCarbon d|0X|de (Correct Answer) (Chosen option)
DI SISIHTHATES
(D) O Hydrogen

Question No.12 Marks: 1.00

Bookmark
A direct current is flowing towards north direction through a metallic wire kept at a
particular place. If the earth’s magnetic field at the place is neglected, then the direction
of the magnetic field above the metallic wire is

T YR, R AR R TR I T Ui qR P A1 A o e @ ok 98 @ B
ﬁwwgmq@mgaaﬂnéﬁﬁm%aﬁ%w%ww&ﬁaﬁ%m
|
(A) O west
gfay
(B) O south
&

(C) O north (Chosen option)
SfR

(D) O east (Correct Answer)

o

Question No.13 Marks: 1.00
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Bookmark
World over, it has been agreed that both the genus and species names will be used in a
particular language. Which one is the CORRECT language?

ST 1R & U8 edfd g8 & foh 91 (i) SR Yo IFT ATH} &1 SUdNT U faRiy e &
fopam STaem | Y HIoT HE-At 372
(A) O English

KD

(B) O Hindi (Chosen option)
(C) O Latin (Correct Answer)

(D) O French
T

Question No.14 Marks: 1.00

Bookmark
What are the products formed when equimolar quantities of CO5, and H,0 react in the

presence of sunlight?

&1 Iare fAfHd 81d § §d CO, 3R H,0 BT THSUE (SHIHIER) HHTE G & YHTRT Bt
SufRufer 7 ifiifsrar et §2
(A) O CgH¢20g and O, are formed (Correct Answer)
CgH1206 3R O, Fiftfa g1d B
(B) O HCO3 and O, are formed
H,CO3 3R 0, fAftfa g Bl
(C) O CO and Hy are formed (Chosen option)

CO 3R H, Afffa g g

(D) O Carbon and CO are formed
e 3R co Fffa g &1

Question No.15 Marks: 1.00
Bookmark
Cell is a Latin word for a little

I, T BB * U T e T B

(A) O room (Correct Answer)

(B) O space
S8

(C) O pore (Chosen option)
Y

(D) O hall
T8 P

Question No.16 Marks: 1.00
Bookmark
Name the type of special cell the supportive tissue has.
& Sad ard (a2 HITReT &1 719 ddzu|
(A) O Epidermal cell
e

(B) O Meristematic cell

27129
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fqusaide Sk

(C) O Stone cell (Chosen option)
TG DIRADI

(D) O Dead cell (Correct Answer)
Hd

Question No.17

You may suffer from which type of disease, if you live in a poorly ventilated and
overcrowded house.

%&%qw&mwﬁﬁﬁ?%%a@mﬁwﬁ% a3y fhd YR & T | tifsd 8
?
(A) O Airborne disease (Correct Answer)
ag
(B) O Protozoan disease (Chosen option)

ISR

(C) O Waterborne disease
Sl S AT

(D) O Bacterial disease

SitaTo] Hde T

Marks: 1.00
Bookmark

Question No.18

A sound wave is propagated through a medium with speed of 450m/s, if the frequency of
the wave is 1500Hz, then find the wave length of the sound wave used.

TP @G AT B 450 HY/A B TG S 1Y TH A1ead J gaid fhar srar g, afe R ot
3MgRT 1500 Hz B | Tgad eafy a1 &t axvTeed J1d Hifor|
(A) O 30m
30 1t
B)O 3m
3
(C) O 0.3 m (Correct Answer) (Chosen option)
0.3 |t
(D) O 300m
300 |t

Marks: 1.00
Bookmark

Question No.19

What is the weight of an object of mass 40 kg, if the acceleration due to gravity at that
place is 9.8m/s2?
e TPH VI W TFATHYU & HRUT @R 9.8 HexAde? §, df 40 fhaumd sead ard
TP I HT YR fora 82
(A) O 39.2N

39.2N

(B) O 392N (Correct Answer)
392N

(C) O 40.8N
40.8N

(D) O 4.08N (Chosen option)
4.08N

Marks: 1.00
Bookmark
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Question No.20

Identify the metal which is common to both brass and bronze.
39 YTd B! UgaH Hiforg off Fidd 3R SHied g1 & qrrg ]
(A) O Lead

IRl

(B) O Zinc
Il

(C)O Tin
feq

(D) O Copper (Correct Answer)
GIEL

Marks: 1.00
Bookmark

Free Downloaded From - www.exammix.com

29/29



